Critical Values ... Set 2

Determine all of the critical points for the function.

1) glx)=6x° +33x* = 30x° + 100 2) fl)=E(2-1)

3) Hw) = ,\w 1 4) f (X) = 6x — dcos 3x

w —w-—=6



Critical Values ... Set 2

Answers

Critical Points and Extreme Value Theorem Notes

Determine all of the critical points for the function
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Critical Values ... Set 2

5) h(f) = 106> 6) f(x)=x*In3x+6

7 flx)=xe*

For each problem, find all points of absolute minima and maxima on the given interval.

x* 11
8) y=——+3x——— [I,6
y=-- 5+ 1.6l

9) y=—x"+3x*-3; [-1,2]



Critical Values ... Set 2

Answers

5) h(t) = 10f(’3 o 6) f(l) = x2 In JEFO w= 3 '\.'
INe

L) (\) = xe"2

No critical points

For each problem, find all points of absolute minima and maxima on the given interval.

i 11
8) y=——+3x—-—— [L,6
; 5 > (1, 6]

9) y=-x>+3x>-3; [-1,2]

Absolute minimum: (0, —3)

A Absolute maxima: (-1, 1),(2, 1)
Absolute minimum: | 6, By
)

Absolute maximum: (3, —1



10) y=—x*+2x> +4; [-2,1]

12) y=03x+ 6)°; [-4,-1]

Critical Values ... Set 2

Qx

11) y= . [0, 6]

2

49

13) v=—cos (x); [-

ta | =

ta | =



Critical Values ... Set 2

10) y=—x*+2x"+4; [-2,1]

Absolute minimum: (-2, —4)

Absolute maxima: (1, 5), (—1, 5)

2

m}y=Bx+®i [-4, —1]

Absolute minimum: (-2, 0)

53—

Absolute maximum: {:—4, {36]

Answers

Ox
11) Y=o [0, 6]

Absolute minimum: (0, 0)

¢ i

3
Absolute maximum;: (3. ;)



Critical Values ... Set 2

For each problem, find all points of relative minima and maxima.

14) y=x*-x*-3 X
15) y=
4x — 4

| 1

= 17) y=sin (21); [-m, ]
16) y=—-5x+15)°



Critical Values ... Set 2

Answers

For each problem, find all points of relative minima and maxima.

Y

14) y=x*-x*-3 o X2
y=
)] 4x -4

o N2 13
RC‘H[]\"C minimma: (—_. )
4 &

Relative maximum: (0, —3)

T 4 Relative minimum: (2, 1)
Relative maximum: (0, 0)

17) y=sin (2x); [-r, 7]

| 1o

16) y=—(-5x+15)°

No relative minima.

Relative maximum: (3, 0) 3n

Relative maxima: (—

Relative minima: (— % —l). (

4’




